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INVESTICE DO ROZVOJE VZDELAVANI





Lineární rovnice
= rovnice, která se vyskytuje ve tvaru a·x + b = 0, přičemž a je neznámá, která se nerovná nule.

Vypočti:

1)
(x + 2) · (x - 3) = (x - 5)2

2)
2x + 4 x2 - 2 = 4 + x2 + 3 x2
3)
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ŘEŠENÍ:
1)
(x + 2) · (x - 3) = (x - 3)2

x2 – 3x + 2x – 6 = x2 – 6x + 9 




5x
=
15

/:5



  x
=
 3
zkouška:
L = (3 + 2) · (3 – 3)

P = (3 - 3)2

L = 5 · 0



P = (0)2
L = 0




P = 0
2)
2x + 4 x2 - 2 = 2 + x2 + 3 x2


     2x   =  4
/: 2


       x   =  2

zkouška:

L = 2 · 2 + 4 · 22


P = 2 + 22 + 3 · 22
L = 4 + 16



P = 2 + 4 + 3 · 4

L = 20



P = 20
3)
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2x – 6
= 3x + 12


    - x

= 
 18


      x

=
-18

zkouška:
L = (-18 : 3) – 1


P = (-18 : 2) + 2

L = -6 – 1



P = -9 + 2

L = -7



P = -7

4)
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3 · (3x - 2) – 5 · (x + 2) = 0



   9x – 6 – 5x – 10 = 0





       4x = 16
/: 4





x = 4
zkouška:

L = 3 · (3 · 4 - 2) – 5 · (4 + 2)

P = 0

L = 30 – 30
L = 0
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